Efficiency vs dr

}
i”
— 1000evt

5 1RURYLTLIERS 1000evt

1o s 1072 o 1
TP min AR

[ Efficiency vs dr (track,jet) |
.§0'02
00.018F
E F
00).016}
q -
£.014F
> -
®.012F
C -
L 0.01
= r
©.008[
0.006F
0.004F
0.002F

1.0

Ratio

0.95 : s, : i
107 1072 107
AR(TP, jét)

Efficiency vs pu

—0.02r
o oo : ] : : : :
ont TR S S S O
@.016f
(] r
‘D.014F
t -
®.012F
0.01F
0.008f-+=we-{i--t-F -
0,008+ i il b LT
0.004F -+ +heericheedeeeshonnenionn o
s O S e

=
a4
i

+=F

0936730 40 50 60 70 80 90 100
Pileup



	Contents
	Page 1


